SELF-ASSESSMENT TEST

Time : 45 minutes

Maximum

1. simplify: 3+3) 3-V3).
9. What is the -E— form of the number 032
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3. Find the rationalising factor for the denominator of the expression e
h -
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Find the value of

-9/8
. . 64
. Simph il :
plify [125)

Ifx=3+ 2J§ then find whether x+ i is rational or irrational.
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. Prove that + + =0,
2++/3 JE-J:% 2-\/::3
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Ifx=5—2~/§ then find the value of x2+—2.
X

9. Simplify: 345 — 125 + /200 — /50 -

10. Find the values of @ and b if 7+N5—7ﬂ3\6=a+\/€b.
Coa | 3-J5

J5)72 +(2-+/5)"* and y=(2+ J5)/2 —(2-5)"? then evaluate x% + 52



